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The series is absolutely convergent for 2|z| < 1 or |z| < % The radius of convergence is B = %
At z = —%, the series 3207 ;(—1)" /n converges by the alternating series test. At z = %, the series

o2_; 1/n is the harmonic series which diverges. Thus, the given series converges on [—%, %).

By the ratio test,
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The series is absolutely convergent for -1-15|:c — 5] <1, |x — 5| < 10, or on (—5,15). The radius of
convergence is R = 10. At = = —5, the series Y52 ,(—1)%(—10)*/10* = 32, 1 diverges by the nth
term test. At z = 15, the series 372 ,(—1)¥10¥/10% = %2 ,(—1)* diverges by the nth term test.

Thus, the series converges on (—5,15).
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Since cos(7/2) = cos(—m/2) = 0, the series converges on (—7/2,7/2).
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